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4 o T
24x% + 60x + 36 56x* — 13x—3
4x+ 6 B3
18x% — 30x + 8 B+ 40 + 2
3x—4 =

155 — 22 —46x— 24
5x+3

45x3 + 40x°2 +31x— 4
Ox—1

543 + 392 — 23x— 15
6x+5

323 — 722 — 32x
8x

42x° + 6x° + 24x
6x

15x2 + 26x — 21
5x—3
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242 + 60x + 36 56x2 — 13x— 3
ax+6 8x— 3
6x+ 6 Tx+ 1
18x2 — 30x + 8 8 + 4% + 2x
3x— 4 2x
6x—2 4% + 2x + 1

1553 — x> —46x— 24
5x+3
32— 2x— 8

45x3 + 40x°2 +31x— 4
Ox—1
5x% + Sx+ 4

5453 +39x2 — 23x— 15
6x+5
9% —x—3

320 — 720 — 32x

8x
4" — 9x— 4

4253 + 62 + 24x

6x
7x2+x+4

15x2 + 26x — 21
5x—3
3x+7
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